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23.

The transition of an atom from n =o +0 n =3 represents

1) Shortest wavelength of paschen series
11) Longest wavelength of paschen series

111) Shortest wavelength of Balmer series

3 1dentical resistors are connected as triangle ABC . Voltage across AB = 12V. Find
ratio of current through AB ACB

If maximum height and range are equal 1n projectile motion, then tan=............

It young’s modulus and densities are in the ratio 3 : 2 and 3 : 1 respectively ratio of
velocity of sound 1s

The wavelength of body radiation having maximum energy 1s ) m at temperature T. If

_y . . A
the wavelength of radiation corresponds to maximum energy 1S 2 then temperature

1S
Dimensional unit of product of momentum of 1nertia and angular momentum

A body drop from rest from the top of a tower passes through 28™ floor and 4™ floor in
3s and 5s respectively. Find the distance between the floor

A planet rotating about 1ts own axis and around the sun 1n a circular orbit will not have

A) Rotational k.E B) Potential Energy
C) Vibrational Energy D) moment of inertia
E) Angular momentum

Mobility of electrons &

The angular velocity of minute hand and second hand

u. andp, are static and kinetic friction, then
A) p, > maximum value of .
B) u. 1s opposing impending motion

C) u. depends on area

D) Both doesn’t depend on area

Two equal capacitors are given mitially 4C charge. Later charge -2C 1s given to one
and 2C given to other. Ratio of potential
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28.

29.
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31.

32

33.

34.

35.

When planet revolves around earth. Which of the following quantity remain unchanged.

The number of photon of wavelength 622 nm emitted per second from the light source
having power 150 W

Mean free path 1s inversely proportional +0 (n = number density, d = diameter of
particle

1 1 1
A) = B)\/g C) =

n

Angular fringe width 1s USE 1f distance between slit 1s halved

4 masses are placed at 4 corner of square ABCD. If one mass 1s removed from the
corner B. Then centre of mass lies 1n the line joining

A B
D C
A) OA B) OB C) OD D) OC

Find object distance of concave mirror of R = 24 cm which gives magnification of 3
mean free path 1s inversely proportional to

G1ven same 3 resistors connected to forma AABC If 12V 1s connected across AB the
ratio of effective resistance of ACB to AB

If mitial no. of reacting molecules 1n a radioactive decay 1s N, find the number of
molecules reacted after 5 half life

A charge q 1s placed 1nside a cavity in metal sphere. Inside cavity

A)E=0 V=0
B) E=0 V #0
C) E-£0 V #£0
D) E#0 V=0

Velocity of man swimming along the tlow of river 1s 10km/h and against the flow 1s
6 km/hr. Velocity of man 1n still water 1s

The ratio of rate of heat flow through AB and BC
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39.

(1+i) =
Solve (1 +y)dx=(1 +x)dy

n tan X
J. dx =

0 COS X

J._ll X —3ldx =

Find the area of triangle formed byx — 4, y=-4 and y =x
The number of 5 digit numbers that can be formed using the digits O and 1 1s

o x —11
hm| ———
=1 49 4+ x? —13

n+l n
> "C,=512,then ) "C, =
k=0 k=0
. 3 .
Ita,a ..a areinGP,a ta =6anda, ta = 178 find the common ratio

S={a, b, ¢, d, e, f}. Then the total number of subsects with odd number of elements
[fa, b, care in GP,abc =27,a+ ¢ =10 find a? + b? + ¢?

lim 2[x]——
im 2| N

Ifa =2"', n=12,3...then 2 3, =

a ar |1
. ar’ ar  1|=
Ifa,a,a, are .n GP then
ar’  ar’ 1
Find the domain of f(x) = /7 -11x
3 X4

Iff(X) — \/X_Z ; find f/(27)

TC ]
Iftan( _1—2]=\6,ﬁnd o’

2 2

X

Area bounded by v | ;5 =1 and line joining (0, 5) and (4, 0) is
A fme 47

cos (2sina) = —, find o ?

12
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47.

43.

sin 60° —sin 80" +sin100° —sin120°

dy  2x

dx 1+x

Two numbers m and n are selected from {11, 13, 14, 35, 36, 72} then find the probability that

mn 1s odd

8
—Xx 1P, =
4

Equation of parabola having focii(—3, 1) and (3, 1)

y = sec (tan'x) , find

If Z= ax + 2y has maximum value for points on the line joining (20, 0) and (10, 15) subject to

> XY =X then integrating

dy

d_x atx=\/§

3x +2y < 60, x + 3y < 40 x,y=0. Find ¢ ?

1
[f£(x) = —, u = f(x) £'(x) then

. l+cosdx
lim 2 =
x>0 fan; X

49.
50.

S1.
.

S3.

4.

J3J.

f(x) = e* (2x?
The geometric mean of o, 3 1s 6 a, B are roots of 2x* —25x + ), =0 . Find ),

Equation of parabola having focus (-3, 1) and vertex (1, )
X +y = 2 touches a circle with centre (0, 4) find radius

{a 1
ifa=|0 2
L4 5

2x* + 2y* — 4y+10 = 0, equation of line joining the centre and (-1, 2)

2x—21
11—x

Ox

Ay

2 |

dx

2—a) has a local maximumat x = 2. Find a?

find a if |A| = 24

>3 x # 11 then x belongs to



	MEMORY-KEAM
	1
	2
	3
	4
	1
	2
	1
	2
	3

